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Bachelor of Arts (B.A.-10/12/16/17)

3rd Year Examination, 2019 (June)

Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION–A/#$�%&'�(

(Long Answer Type Questions)/#��)��� *+����	� ����� ,��-(

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2×19=38)
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1. Critically examine Fisher's quantity theory of money.
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2. Explain the main functions of Central Bank of India.
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3. “The best use of Public Finance is that which secures the
maximum social advantage from the operation which it
conducts”. (–Dalton)

Explain this statement and discuss the role of Public Finance
in a modern state.
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4. Money is a matter of functions four–A medium, A measure,
A standard and A store. Discuss.
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SECTION–B/#$�%&'$�(
(Short Answer Type Questions)/#�)��� *+����	� ����� ,��-(

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4×8=32)
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1. What do you mean by Taxable capacity ?
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2. Explain the Bank Rate and its role.
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3. Explain the Devaluation and its impact.
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4. Discuss the objectives of Regional Rural Banks (RRBs) in
India.
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5. Explain the ‘Cost Push Inflation’ and ‘Demand Pull’
inflation.
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6. Discuss the objectives of credit control.
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7. Discuss the Demerits of money.
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8. Explain the meaning of deficit financing.
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(Objective Type Questions)/#����
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Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory. (10×1=10)
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Choose the correct answer.

�(�� A'��� ��� ����������

1. Fourteen (14) Commercial Banks were Nationalised in India

in

(a) 1960 (b) 1969

(c) 1970 (d) 1975.
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/)4 DGHI /�4 DGHG

/�4 DGJI /�4 DGJKL

2. Which tax of the following is not shifted ?

(a) Income Tax (b) Excise duty

(c) Customs duties (d) Entertainment Tax.
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3. Maximum social advantage was named as maximum social

welfare who gave this name ?

(a) A.C. Pigau (b) Musgrave

(c) Wagner (d) Dalton.
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4. Financial resources are allocated between centre and state

on the Recommendation of

(a) Planning Commission

(b) Election Commission

(c) Finance Commission

(d) Sarkariya Commission.
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5. Financial year of Indian Budget starts from

(a) 1st January (b) 1st March

(c) 1st May (d) 1st April.

�������� ��3���� �#'���� #:�&� �
��M��� (�	��� ( 

/)4 D� ��#��� �	 /�4 D� 
��&� �	

/�4 D� 
5&� �	 /�4 D� )�
 �� �	�

S-421-BAEC-302/EC-06 [ 6 ]



6. Money and credit policy is declared by

(a) State Bank of India (b) Punjab National Bank

(c) Commercial Bank (d) Reserve Bank of India.
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7. Theory of ability to pay is propounded by

(a) Adam Smith (b) Pigou

(c) Dalton (d) Keynes.
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8. Who define “Zero Base Budgeting Process”

(a) Marshall (b) Peter A. Phyrr

(c) Smt. Robinsson (d) J.S. Mill.
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9. Fisher's equation represented by

(a) PT = MV + M'V' (b) P = MV + T

(c) T = MV + P (d) PK = MR.
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/�4 T = MV + P /�4 PK = MR.

10. GST (Goods & Service Tax) is established in India in

(a) 1918 (b) 1917

(c) 1914 (d) 1912.
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